SA: A=

A FHEZINE & XNANL(FELXSNL/XNALTAI)

R FAHYESIMA

SH B3 . S(30) - MBAY - BES Off &4 I8N Husz
A= 58,979,676 47,867,154 11,112,522
= 42,531,622 38,358, 102 4,173,520
X 4,780,000 4,780,000 0
=S 11,668,054 4,729,052 6,939,002
FAHEZNE & XNANL(SELXNANL/NALZAI) 568,450 366,200 202,250
FHdgsZNd 568,450 366,200 202,250
ORI ALY =& 225,600 125,600 100,000
403 Xt XISHHSAH=0l & 200,000 100,000 100,000
01 HXIESHMA2EE 200,000 100,000 100,000
OZF&LIX2 SZ2A 200,000 100,000 100,000
OrSCH22tE J1320| 120,750 52,500 68,250
403 XXM S =0l A 120,750 52,500 68,250
01 AXSHH =22 X 120,750 52,500 68,250
OOtSCH22tE It D| 120,750 52,500 68,250
orst=22# 828 20,000 8,000 12,000
307 212t01 & 20,000 8,000 12,000
02 ABHAIHEX 20,000 8,000 12,000
Ootshi22tE 32H 20,000 8,000 12,000
ZEAZESAN XN & 30,000 8,000 22,000
307 212+01 ™ 30,000 8,000 22,000
02 QIABAMMAEE 30,000 8,000 22,000
OLJAZZ2SH K& 30,000 8,000 22,000
FEANFEAFAFHEX L (A SR /FH) 53,598,211 42,687,939 10,910,272
= 42,531,622 38,358, 102 4,173,520
S 11,066,589 4,329,837 6,736,752
FHEZMEXE 3,100,000 3,040,000 60,000
= 3,100,000 3,040,000 60,000
CEZ2YUFE AENH(22) 100,000 40,000 60,000
= 100,000 40,000 60,000
403 Xt XISHHMS =01 A 100,000 40,000 60,000
= 100,000 40,000 60,000
01 AXHH2E X 100,000 40,000 60,000
O-=ZSAUFE ANENA 100,000 40,000 60,000
= 100,000 40,000 60,000
==X 10,850,272 0 10,850,272
= 4,113,520 0 4,113,520
=S 6,736,752 0 6,736,752
gexe AL4X)/(2D) 2,703,704 0 2,703,704
= 1,809,871 0 1,809,871
=S 893,833 0 893,833
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SA B8 -H2(32) - MM - BHES

Oil &K N Husz
403 XHXISHHI S XH 0| ® 2,703,704 0 2,703,704
3 1,809,871 0 1,809,871
= 893,833 0 893,833
01 XIS AH2E X 2,703,704 0 2,703,704
oEFUALTIY 2,703,704 0 2,703,704
2 1,809,871 0 1,809,871
= 893,833 0 893,833
YU FE (ST AH) ALK (2D) 7,344,006 0 7,344,006
= 1,857,781 0 1,857,781
< 5,486,225 0 5,486,225
403 RHXISHH S XH2OI & 7,344,006 0 7,344,006
= 1,857,781 0 1,857,781
= 5,486,225 0 5,486,225
01 RXISHXH=EE 7,344,006 0 7,344,006
OTTHHFY A& XY 7,344,006 0 7,344,006
2 1,857,781 0 1,857,781
= 5,486,225 0 5,486,225
YYMIFE(FHEX XR)ALXE(2D) 802,562 0 802,562
2 445,868 0 445,868
= 356,604 0 356,604
403 X+XIEHH S XH2 0| B 802,562 0 802,562
2 445,868 0 445,868
= 356,604 0 356,604
01 RXISHX=EE 802,562 0 802,562
OFNEX NRFY A& XY 802,562 0 802,562
= 445,868 0 445,868
= 356,604 0 366,604
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